VECTOR
APPLICATIONS

*** Use vectors in trig form!!l ***
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Example 1

S HeRE
Nadia is rowing across a river due north at a speed of 5

miles per hour perpendicular to the shore. The river has a
current of 3 miles per hour heading due east
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At what speed is she heading?
S<COS QO Sl4\90> “+ 3<GDS° SMD>
5 05"0""-3&50 'Ss:n‘\o -\-35an
= <3,57

hat is her bearlng with respect to the shore?
8=

tam' (3)=5204° | & 59.04° N




Example 2 = > g

- An airplane is traveling due east with a speed of 600
miles per hour. The wind blows at 85 miles per hour at an

angle of S 59° E. . o=322°
arpleme o=c wind

. ) What is the resulting speed of the airplane?

:; boo<ees 0,300 + BS<eas324° 5502297
F= CboocosD + 35cos32T, LoosMOESsin329°>

V= <C72.86,-4338>  \EU=6242% wh
- b) What is the resultlng bearing of the plane?

O =tum' [-433%
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€ 332° s\

Example 3 %ﬂ»«
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- A quarterback running forward at 5 meters per second
throws a football with a velocity of 25 meters per second
at an angle of 40° with the horizontal.

QB Lodtball ‘fa..c’
o= ©=40°
—
Swps
- a) What is the resultant speed of the pass?

V= 5<ws 070" > + 25<cos 4 Sinlio >
T-’: <Z'-l». ls,\‘o.01> ﬁ }?u: 23.00 wepS

- b) What is the resultant bearing of the pass?

O=tox' 2,“,; = 23,0 E 364" N\
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- A pilot needs to plot a course that will result in a velocity
of 500 miles per hour in a direction of due west. If the
wind is blowing 100 miles per hour from the directed
angle of 192°, find the direction and speed the pilot should
set to achieve this resultant.
wind e=192°
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